ASSEMBLY INSTRUCTIONS

MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

CABINET 2 DOORS 3 DRAWERS

BALCAO 2P 3

GABINETE 2 PUERTAS 3 CAJONES

G

Reference | Revise

Referéncia 240603 | Revisao
Referencia

| Revisiéon

00

PARTS IDENTIFICATION

YOU WILL NEED - ;
VOCE VAI PRECISAR DE / USTED NECESITARA IDENTIFICACAO DAS PECAS / IDENTIFICACION DE LAS PIEZAS
. s o Toolznot/s#pplieq . i Ne Measures_Inches Medidas_cm | Qty./Qtd.
erramentas nao forneciaas erramientas no Iincluiaas
01 1303/8x23/8x5/8 |[77.0x6.0x15 2
02 {151/8x23/8x5/8 |385x6.0x15 2
03 [303/8x13 x5/8 77.0x33.0x15 1
04 |461/8x191/4x5/8|117.0x49.0x1.5 1
05 |263/8x191/4x5/8|67.0x49.0x1.5 1
5/16" 06 |253/4x191/4x5/8|655x49.0x1.5 1
8mm 07 [263/8x191/4x5/8|67.0x49.0x1.5 1
2 People Drill bit 08 |14 x41/2x5/8 355x11.5x15 6
ggessoas _I?rloc; 09 |131/4x41/2x5/8 |33.6x11.5x15 3
oo = 10 |16 1/6x141/8x1/8]36.2x36.0%0.3 3
11131 x121/8%x1/8 78.8x30.8x0.3 2
12 |261/4x157/8x1/8|61.6x403x0.3 1
@—ran
Screwdriver Phillips Drill machine
Chave Phillips Furadeira
Destornillador cruz Taladro

(-

Hammer
Martelo
Martillo

MAXIMUM RECOMMENDED WEIGHT
BEING THIS EVENLY DISTRIBUTED.

PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

LB KG

6

11 5

il =1 iml|

22 10




IDENTIFICATION OF ACCESSORIES

IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS

] PRE-ASSEMBLE
PRE-MONTAGEM / PRE ARMADO

The separation of the accessories before you start the assembly will facilitate the

same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.

A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de ddvidal

no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.
La separacién de los accesorios antes de comenzar el armado facilitara el mismo
sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.

. En caso de duda

Flanged head screw
Parafuso flangeado / Tornillo de cabeza flangeada

|

5,0x60 mm

Trapeze
Trapézio / Trapecio

A23

Foot
Pé Quadrado FP / Pie

140 mm

B3

Bushing
Bucha expansiva / Tapén

8x50 mm

Flanged head screw
Parafuso flangeado / Tornillo de cabeza flangeada

4,5x45 mm

U S Metal claw
Garra de metal / Garra metal

Flat head screw
Parafuso chato / Tornillo de cabeza plana

4,0x40 mm

Hinge shim
Calgo dobradica / Bisagra de calce

Metal hinge super hight
Dobradiga super alta / Bisagra alta

26mm

Al |J]O|J]OO|lOAOIND|O|O]|DN

Wooden dowel
Cavilha / Taquete

8x30 mm

N
(2]

Wooden dowel
Cavilha / Taquete

77
N 727

8x50 mm

N

01

SEPARATE THE TWO PARTS OF THE METAL SLIDE TO THE ASSEMBLY FOLLOWING THE INSTRUCTIONS BELOW.
SEPARE AS DUAS PARTES DA CORREDICA METALICA PARA A MONTAGEM SEGUINDO AS INSTRUGOES ABAIXO.
SEPARAR LAS DOS PARTES DE LA CORREDERA DE METAL PARA EL ARMADO Y SEGUIR LAS INSTRUCCIONES ABAJO.

¢ 50T G S = |
c0o EX ;@ Es E |

D o
(I co0 =%=—0o] | & Es E |

L9

Flat head screw
Parafuso chato / Tornillo de cabeza plana

3,5x12 mm

30

L17

0o Telescopic slide
Corredica telescopica / Corredera telescépica

350 mm

Bore patch adhesive
Tapa furo adesivo / Tapones adhesivo

20

Nail
Prego / Clavo

10x10

66

Support "L"
Suporte "L" / Soporte "L"

Flat head screw
Parafuso chato / Tornillo de cabeza plana

4,5x45 mm

Pan head screw
Parafuso panela / Tornillo de pan

4,5x25 mm

Pan head screw
Parafuso panela / Tornillo de pan

3,5x14 mm

Y18

Zamac bracket
Cantoneira zamac/ Suporte de zamac

13x13 mm

‘HH\HH‘HH\HH‘\H\\\H\‘HHHH\‘HHH\H‘H\\\HH‘HH\HH‘HH\HH‘HHHH\‘HH\HH‘HHHH\‘HHHH\]J\H\HH\]J
0 10 20 30 40 50 60 70 80 90 100 110 20 30mm

02

MARKING
MARCAGCAO
MARCADO




05

MARKING
MARCAGCAO
MARCADO

04 ASSEMBLY
MONTAGEM / ARMADO




Furniture back
Parte traseira do mével

Trasero del mueble




11

MOUNTING ON THE CHOSEN DRAWER FRONT MODEL i
MONTAGEM NO MODELO DE FRENTE DE GAVETA ESCOLHIDO / MONTAJE EN EL MODELO DE FRENTE DE CAJON ELEGIDO

12




15

At the end of the assembly, insert the screw cover / hole plugs in the apparent holes.
Ao final da montagem, insira a(s) tampa(s) de parafuso / tapa furos nos furos que ficarem aparentes.
Al final del conjunto, coloque la tapa tornillo / tapdn plastico en los agujeros que se hagan evidentes.

17

Drawer insertion
Insercdo de gaveta
Insercién del cajon




ASSEMBLY INSTRUCTIONS

MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

KOYA DOORS CABINET 2 DOORS 3 DRAWERS

PORTAS KOYA BALCAO 2P 3G
PUERTAS KOYA GABINETE 2 PUERTAS 3 CAJONES

Reference | Revise

e 240681 |7 00
Referencia | Revision

YOU WILL NEED PARTS IDENTIFICATION

VOCE VAI PRECISAR DE / USTED NECESITARA IDENTIFICAGAO DAS PECAS / IDENTIFICACION DE LAS PIEZAS

Tools not supplied
Ferramentas nao fornecidas / Herramientas no incluidas

1 Person Screwdriver Phillips
1 Pessoa Chave Phillips
1 Persona Destornillador cruz

50

50 e

MAXIMUM RECOMMENDED WEIGHT

BEING THIS EVENLY DISTRIBUTED.
PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

Ne | Measures_Inches| Medidas_cm | Qfy./Qtd.
50 |243/8x15x5/8|61.8x38.1x1.5 2
51 |15 x71/8x5/8 |380x182x15 3




_ IDENTIFICATION OF ACCESSORIES ASSEMBLY
IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS MONTAGEM / ARMADO

The separation of the accessories before you start the assembly will facilitate the

same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.
A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de duvida|
no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.
La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda

MARKING.
MARCAGAO|
MARCADO

sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.
Handle
[K23 % Puxador Gola / Tirador 381 mm 5
Flanged head screw
05 m Parafuso flangeado / Tornillo de cabeza flangeada 3,5x14 mm 1 5
Horizontal Adjustment
Regulagem Horizontal
Ajuste Horizontal
\D]\D’I\ Vertical Adjustment Depth Adjustment
Regulagem Vertical Regulagem Profundidade
‘\\H\H\\‘H\\\H\\‘\H\\\H\‘\H\\\H\‘\\H\\\H‘\\H\\\\\‘\\\H\\\\‘\\\H\H\‘\\\\H\\\‘\\\\\H\\‘H\\\HH‘H\HHH}JHHH\H}J Ajuste Vertical Ajuste Profundidad
0 10 20 30 40 50 60 70 80 90 1000 110 20 30mm
PRE-ASSEMBLE

PRE-MONTAGEM / PRE ARMADO

01

50 (2X)




ASSEMBLY INSTRUCTIONS
MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

WALL CABINET 3 DOORS
AEREO 3 PORTAS

ARMARIO DE PAREDE 3 PUERTAS

Reference | Revise

Referéncia 2406 1 3 | Reviséo
Referencia

| Revision

00

. YOU WILL NEED .
VOCE VAI PRECISAR DE / USTED NECESITARA

_ PARTS IDENTIFICATION
IDENTIFICACAO DAS PECAS / IDENTIFICACION DE LAS PIEZAS

Tools not supplied
Ferramentas néo fornecidas / Herramientas no incluidas

M

5/16"
8mm
2 People Drill bit
2 Pessoas Broca
2 Personas Taladro
@—ran
Screwdriver Phillips Drill machine
Chave Phillips Furadeira
Destornillador cruz Taladro

(-

Hammer
Martelo
Martillo

MAXIMUM

RECOMMENDED WEIGHT

BEING THIS EVENLY DISTRIBUTED.

PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

_ LB KG
11 5
F 22 10

Ne

Measures_Inches

Medidas_cm

Qfy./Qtd.

01

461/8x113/8x5/8

117.0x29.0x1.5

1

02

303/8x10 x5/8

77.0x253x1.5

03

461/8x113/8x5/8

117.0x29.0x 1.5

04

113/8x231/kx5/8

29.0x59.0x15

05

113/8x22 x5/8

29.0x56.0x1.5

06

113/8x231/4kx5/8

29.0x59.0x 1.5

07

467/8x113/8x1/8

119.0x29.0x0.3

1
1
1
1
1
2




_ IDENTIFICATION OF ACCESSORIES
IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS

] PRE-ASSEMBLE
PRE-MONTAGEM / PRE ARMADO

The separation of the accessories before you start the assembly will facilitate the

same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.
A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de duvida|
no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.

La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda
sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.

MARKING $
MARCAGCAO|
MARCADO

Flanged head screw
A @:KSSSSSSSSSSSSSSSSSSSSF Parafuso flangeado / Tornillo de cabeza flangeada 5.0:60mm |3
Bushing
BS W Bucha expansiva / Tapén x50 mm 3
(@) Shelf bracket
88 ' Suporte de prateleira / Suporte de repisa 10x15 mm 3
N Metal claw 4
S\ Garra de metal / Garra metal
Hinge shim 6
Calgo dobradica / Bisagra de calce
Metal hinge super hight
D6 ﬁ Dobradica super alta / Bisagra alta 26mm 6
Wooden dowel
@ Cavilha / Taquete &3omm | 16

Nail
Prego / Clavo 10x10 40

Support "L" } 3
Suporte "L" / Soporte "L"

——
Flat head screw
@ m Parafuso chato / Tornillo de cabeza plana 45x45mm | 16

1 Pan head screw e———
S @ J]m Parafuso panela / Tornillo de pan 3,5x14 mm 33

‘HH\HH‘HH\HH‘\H\\\H\‘HHHH\‘HHH\H‘H\\\HH‘HH\HH‘HH\HH‘HHHH\‘HH\HH‘HHHH\‘HHHH\]J\H\HH\]J
0 10 20 30 40 50 60 70 80 90 100 110 20 30mm




ASSEMBLY
MONTAGEM / ARMADO




MOUNTING ON THE CHOSEN DOOR MODEL 09
MONTAGEM NO MODELO DE PORTA ESCOLHIDO / MONTAJE EN EL MODELO DE PUERTA ELEGIDO

07

Vertical Adjustment Horizontal Adjustment Depth Adjustment
Regulagem Vertical Regulagem Horizontal  Regulagem Profundidade
Ajuste Vertical Ajuste Horizontal Ajuste Profundidad

4




ASSEMBLY INSTRUCTIONS
MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

DOORS KOYA WALL CABINET 3D

PORTAS KOYAAEREO 3P
PUERTAS KOYA ARMARIO 3P

Reference | Revise

e 240683 |5 00
Referencia | Revision

YOU WILL NEED

VOCE VAI PRECISAR DE / USTED NECESITARA

PARTS IDENTIFICATION

IDENTIFICAGAO DAS PECAS / IDENTIFICACION DE LAS PIEZAS

Tools not supplied

Ferramentas nao fornecidas / Herramientas no incluidas

@ —r

1 Person
1 Pessoa
1 Persona

Screwdriver Phillips
Chave Phillips
Destornillador cruz

MAXIMUM RECOMMENDED WEIGHT
BEING THIS EVENLY DISTRIBUTED.

PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

LB KG

50

50

/

50

Ne

Measures_Inches

Medidas_cm

Qty./Qtd.

50

205/8x15 x5/8

523x38.1x1.5

3




_ IDENTIFICATION OF ACCESSORIES
IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS

ASSEMBLY
MONTAGEM / ARMADO

The separation of the accessories before you start the assembly will facilitate the

same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.
A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de ddvidal
no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.

La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda
sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.

ko3 % Handle 381 mm 3

Puxador Gola / Tirador

Flanged head screw

05 m Parafuso flangeado / Tornillo de cabeza flangeada 3,5x14 mm 9

‘\\\\\H\\‘H\\\H\\‘\HH\H\‘\H\\\H\‘\\H\\\H‘\\H\\H\‘\HH\H\‘\HH\\\\‘\\\\H\\\‘\\\\\H\\‘H\\\HH‘HHHH\]JHHH\H]J

(o] 10 20 30 40 50 60 70 80 90 100 110 20 30mm
PRE-ASSEMBLE

PRE-MONTAGEM / PRE ARMADO

Horizontal Adjustment
Regulagem Horizontal
Ajuste Horizontal

Depth Adjustment
Regulagem Profundidade
Ajuste Profundidad

Vertical Adjustment
Regulagem Vertical

Ajuste Vertical

K23




ASSEMBLY INSTRUCTIONS

MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

WALL CABINET 1 FLAP DOOR
AEREO 1P BASCULANTE
ARMARIO DE PARED 1 PUERTA HORIZONTAL

Reference
Referéncia
Referencia

240620

| Revise
| Revisao
| Revision

00

YOU

VOCE VAI PRECISAR DE / USTED NECESITARA

WILL NEED

PARTS IDENTIFICATION

IDENTIFICAGAO DAS PEGCAS / IDENTIFICACION DE LAS PIEZAS

Tools

Ferramentas nao fornecidas / Herramientas no incluidas

not supplied

M

5/16"
8mm
2 People Drill bit
2 Pessoas Broca
2 Personas Taladro
@—ran
Screwdriver Phillips Drill machine
Chave Phillips Furadeira
Destornillador cruz Taladro

(-

Hammer
Martelo
Martillo

MAXIMUM RECOMMENDED WEIGHT
BEING THIS EVENLY DISTRIBUTED.

PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

LB

KG

|l

22

10

\

Ne

Measures_Inches

Medidas_cm

Qty./Qtd.

01

303/8x113/8x5/8

77.0x29.0x1.5

1

02

303/8x113/8x5/8

77.0x29.0x 1.5

03

14 x113/8x5/8

357x29.0x15

04

14 x113/8x5/8

357x29.0x15

05

311/8x135/8x1/8

79.0x347x0.3

1
1
1
1




] PRE-ASSEMBLE
PRE-MONTAGEM / PRE ARMADO

The separation of the accessories before you start the assembly will facilitate the
same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.
A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de duvida|
no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.
La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda
sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.
Flanged head screw
A @:KSSSSSSSSSSSSSSSSSSSSF Parafuso flangeado / Tornillo de cabeza flangeada 5,0x60 mm 2
Bushing
BS W Bucha expansiva / Tapén 8x50 mm
- Shelf bracket
88 ' Suporte de prateleira / Suporte de repisa 10x15 mm
Wooden dowel
E @ Cavilha / Taquete 8x30 mm
Metal hinge super hight
|
M1 2 % Dobradiga super alta / Bisagra alta 35 mm
B Nail
Prego / Clavo 10x10
= Support "L"
< Suporte "L" / Soporte "L"
Flat head screw
O @ m Parafuso chato / Tornillo de cabeza plana 4,5x45 mm
] Pan head screw
S @ J:m Parafuso panela / Tornillo de pan 3,5x14 mm
—— 0 Gas piston
S7A \E\" Pistao a gas / Piston de gas
@ Side support piston
S7B , Suporte pistdo lateral / Soporte pistén lateral
/’0 Door support piston
S7C Suporte pistdo porta / Soporte pistén puerta
< Dm Pan head screw
S7D @ Parafuso panela / Tornillo de pan 3,5x12 mm
‘\\\\\H\\‘H\\\H\\‘\H\\\H\‘\H\\\H\‘\\H\\\H‘\\H\\\\\‘\\\H\\\\‘\\\H\\\\‘\\\\\H\\‘\\\\\H\\‘H\\\HH‘HHHH\]JHHHH\]J
0 10 20 30 40 50 60 70 80 90 100 110 20 30mm

01

S7D
iy

S7B

MARKING |

MARCAGAO
MARCADO \ 4

MARKING l>
MARCACAO|
MARCADO




ASSEMBLY
MONTAGEM / ARMADO

05

MOUNTING ON THE CHOSEN DOOR MODEL

MONTAGEM NO MODELO DE PORTA ESCOLHIDO / MONTAJE EN EL MODELO DE PUERTA ELEGIDO

MARKING
MARCAGCAO
MARCADO




07

MARKING
MARCAGAO
MARGADO | A

Vertical Adjustment
Regulagem Vertical
Ajuste Vertical

Horizontal Adjustment
Regulagem Horizontal
Ajuste Horizontal

Depth Adjustment
Regulagem Profundidade
Ajuste Profundidad

08

Follow the instruction corresponding to
the template you received.

Siga a instrugdo correspondente ao
modelo que recebeu.

Siga las instrucciones correspondientes
al modelo que recibié.

Model 1/ Modelo 1 Model 2 / Modelo 2

&

10




ASSEMBLY INSTRUCTIONS
MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

KOYA DOOR WALL CABINET 1 FLAP .
PORTA KOYAAEREO 1B reieece 240673 i 00
PUERTA KOYA ARMARIO 1B

YOU WILL NEED _ PARTS IDENTIFICATION
VOCE VAI PRECISAR DE / USTED NECESITARA IDENTIFICACAO DAS PECAS / IDENTIFICACION DE LAS PIEZAS

Tools not supplied Ne | Measures_Inches Medidas_cm | Qty./Qtd.

Ferramentas nao fornecidas / Herramientas no incluidas
50 [301/8x111/2x5/8|76.5x292x1.5 1

1 Person
1 Pessoa
1 Persona

@ =—>r

Screwdriver Phillips
Chave Phillips
Destornillador cruz

MAXIMUM RECOMMENDED WEIGHT

BEING THIS EVENLY DISTRIBUTED.
PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

LB KG




IDENTIFICATION OF ACCESSORIES

IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS MONTAGEM / ARMADO

The separation of the accessories before you start the assembly will facilitate the Follow the Instruction corresponding 1o
same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page. 01 AV e o o oo a0
A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de duvida| MARCADO » e correspondiontes
no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.

La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda

sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.

|K25

Handle
Puxador Gola / Tirador 765 mm
05 st

Flanged head screw
Parafuso flangeado / Tornillo de cabeza flangeada

al modelo que recibio.
Model 1/ Modelo 1

Model 2 / Modelo 2

&

35x14mm | 6

‘HHHH\‘HHHH\‘HHHH\‘HHHH\‘HHH\H‘HH\\H\‘\\\H\\\\‘\HHHH‘\HHHH‘\HHHH‘H\HHH‘HHHH\]JHHH\H]J
0 10 20 30 40 50 60 70 80 90 100 110 20 30mm

] PRE-ASSEMBLE
PRE-MONTAGEM / PRE ARMADO

Horizontal Adjustment Dlepth Acéjusftmzp(} q
Regulagem Horizontal e% agen; ;O lijl?dl ade
Ajuste Horizontal juste Profundida

(
d
S7D
S7D 't
| I =
\ | Vertical Adjustment
O Regulagem Vertical
S7C Ajuste Vertical
C
‘ <L MARKING
it MARGABO. J




ASSEMBLY INSTRUCTIONS
MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

TOWER 2 FLAP DOORS 1 DRAWER - e
TORRE 2PB 1G reieence 240622 e 00
TORRE 2 PUERTAS HORIZONTALES 1 CAJON

YOU WILL NEED PARTS IDENTIFICATION
VOCE VAI PRECISAR DE / USTED NECESITARA IDENTIFICAGCAO DAS PEGAS / IDENTIFICACION DE LAS PIEZAS
Ferramentas néo fo;()e%lﬁjggt/ SI-LIJeprprleilfndientas no incluidas l(\)l: 2 6M3e /3852 Ijle:;l/nac:ess/ 8 67%‘2:2133; ;c1m5 ny4/10fd4
02 [263/8x167/8x5/8|67.0x43.0x1.5 2
03 |263/8x191/Lx5/8|67.0x49.0x 1.5 1
04 |263/8x23/8x5/8 |67.0x6.0x15 2
05 |263/8x185/8x5/8|67.0x47.2x15 1
5/16" 06 |263/8x191/4x5/8|67.0x49.0x1.5 1
8mm 07 | 783/4x191/4x5/8|200.0x49.0x 1.5 1
2 Poople Drill bit 08 |16 x167/8x5/8 40.5x43.0x15 2
gngssg:ass ?arlc;cc?ro 09 |783/4x191/4x5/8]200.0x49.0x1.5 1
10 |14 x41/2x5/8 355x11.5x1.5 2
11 |261/2x41/2x5/8 [621x11.5x15 1
12 |251/2x141/8x1/8 | 64.7x36.0x0.3 1
@.:_ 13 |263/8x135/8x1/8|67.0x34.6x0.3 1
14 1263/8x163/Lx1/8|67.0x42.4x0.3 1
15 [271/8x131/4x1/8(69.0x33.7x0.3 A
A6 | 263/8x5/8x1/8 67.0x1.7x0.4 1
Screwdriver Phillips Drill machine
Chave Phillips Furadeira
Destornillador cruz Taladro

(-

Hammer
Martelo
Martillo

MAXIMUM RECOMMENDED WEIGHT
BEING THIS EVENLY DISTRIBUTED.

PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

LB KG

A
&

11 5

17

n|lm|all

22 10 \/




IDENTIFICATION OF ACCESSORIES

IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS

PRE-ASSEMBLE

PRE-MONTAGEM / PRE ARMADO

The separation of the accessories before you start the assembly will facilitate the
same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.

A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de ddvidal

no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.

La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda

sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.

01

Dobradica curva / Esquina de bisagra metdlica

.< : ) < m Flanged head screw
A Parafuso flangeado / Tornillo de cabeza flangeada 5,0x60 mm 2
Trapeze
A3 @ Trapézio / Trapecio ) 2
TN Metalic bracket
Can
A4 ‘a \ Cantoneira de metal / Suporte de metal 22x22 mm 6
"H" profile
A6 % Perfil "H" / Perfil "H" - 1
Foot
A23 % Pé Quadrado FP / Pie 140 mm
=) ) -
— Bushing
B3 %/ = Bucha expansiva / Tapon 8x50 mm
(@) Shelf bracket
B8 ' Suporte de prateleira / Suporte de repisa 10x15 mm
.( : ) [}:me Flanged head screw
C ‘ Parafuso flangeado / Tornillo de cabeza flangeada 4,5x45 mm
Ci|é ) Metal claw i
AT Garra de metal / Garra metal
Flat head screw
D @ ; T Parafuso chato / Tomillo de cabeza plana 4,0x40 mm
Wooden dowel
@ Cavilha / Taquete 8x30 mm
JRNNSS Flat head screw
L9 @ Parafuso chato / Tornillo de cabeza plana 3,5x12 mm
0o Telescopic slide
L1 7 i Corredica telescopica / Corredera telescépica 350 mm
Metal hinge super hight
|
M1 2 % Dobradica super alta / Bisagra alta 35 mm
kxx:}; Nail
Prego / Clavo 10x10
Support "L" .
Suporte "L" / Soporte "L"
Flat head screw
Parafuso chato / Tornillo de cabeza plana 4,5x45 mm
Pan head screw
Parafuso panela / Tornillo de pan 4,5x25 mm
Pan head screw
Parafuso panela / Tornillo de pan 3,5x14 mm
———J Gas piston .
S7A Bl D Pistdo a gas / Piston de gas
- Side su i
pport piston .
S7B 0 Y Suporte pistéo lateral / Soporte piston lateral
S7Cl /. Door support piston .
Suporte pistdo porta / Soporte pistén puerta
Pan head screw
S7D @ < Parafuso panela / Tornillo de pan 3,5x12 mm
Z15 % Metal hinge curve 35 mm

‘HH\HH‘HH\HH‘\H\\\H\‘HHHH\‘HHH\H‘H\\\HH‘HH\HH‘HH\HH‘HHHH\‘HH\HH‘HHHH\‘HHHH\]J\H\HH\]J
0 10 20 30 40 50 60 70 80 90 100 110 20 30mm




03 MOUNTING ON THE CHOSEN DOOR MODEL
SEPARATE THE TWO PARTS OF THE METAL SLIDE TO THE ASSEMBLY FOLLOWING THE INSTRUCTIONS BELOW. MONTAGEM NO MODELO DE PORTA ESCOLHIDO / MONTAJE EN EL MODELO DE PUERTA ELEGIDO
SEPARAR LAS DOS PARTES DE LA CORREDERA DE METAL PARA EL ARMADO Y SEGUIR LAS INSTRUCCIONES ABAJQ

SEPARE AS DUAS PARTES DA CORREDIGA METALICA PARA A MONTAGEM SEGUINDO AS INSTRUGOES ABAIXO.

S7D
D %
L
|~ |

S7C

€ o] = = =

(coo ooagﬁ Es = |

S

(W)

J; MARKING.
MARCAGCAOQ
MARCADO

\
d

S7B

MARKING

L MARKING:
MARCAGAO MARCACAO
MARCADO MARCADO

MOUNTING ON THE CHOSEN DOOR MODEL
MONTAGEM NO MODELO DE PORTA ESCOLHIDO / MONTAJE EN EL MODELO DE PUERTA ELEGIDO

05 S7D

7D §
L
‘ \

S7C

S

Jg MARKING
MARCAGCAOQ
MARCADO

\
d

S7D
iy
o W

‘ &

S
§
\
B8
MARKING <L MARKING | L1 7A

MARCAGAOL—"" MARGAGAO MARKING.
MR MARGAGO | | Mancagio




ASSEMBLY
MONTAGEM / ARMADO

06




10

MOUNTING ON THE CHOSEN DRAWER FRONT MODEL .
MONTAGEM NO MODELO DE FRENTE DE GAVETA ESCOLHIDO / MONTAJE EN EL MODELO DE FRENTE DE CAJON ELEGIDO

12

11




14

Drawer insertion
Insergao de gaveta
Insercion del cajon

1
&9 | [cle=== 0>°o

Follow the instruction corresponding to
the template you received.

Siga a instrugao correspondente ao
modelo que recebeu.

Siga las instrucciones correspondientes
al modelo que recibi6.

Model 1 / Modelo 1 Model 2 / Modelo 2
19




18

Horizontal Adjustment
Regulagem Horizontal
Ajuste Horizontal

Depth Adjustment
Regulagem Profundidade
Ajuste Profundidad

Vertical Adjustment
Regulagem Vertical
Ajuste Vertical

-4

Horizontal Adjustment
Regulagem Horizontal
Ajuste Horizontal

Depth Adjustment
Regulagem Profundidade
Ajuste Profundidad

Vertical Adjustment
Regulagem Vertical
Ajuste Vertical



ASSEMBLY INSTRUCTIONS
MANUAL DE MONTAGEM / INSTRUCCIONES DE ARMADO

KOYA DOORS TOWER 2 DOORS 1 DRAWER

Reference | Revise

PORTAS KOYA TORRE DE FORNOS 2P 1G reeec: 240684 2= 00
PUERTAS KOYA TORRE 2P 1C

YOU WILL NEED _ PARTS IDENTIFICATION
VOCE VAI PRECISAR DE / USTED NECESITARA IDENTIFICACAO DAS PECAS / IDENTIFICACION DE LAS PIEZAS

Tools not supplied
Ferramentas néo fornecidas / Herramientas no incluidas

0/

1 Person
1 Pessoa
1 Persona

@ =—>

Screwdriver Phillips
Chave Phillips
Destornillador cruz

MAXIMUM RECOMMENDED WEIGHT

BEING THIS EVENLY DISTRIBUTED.
PESO MAXIMO RECOMENDADO SENDO
ESTE DISTRIBUIDO UNIFORMEMENTE.

PESO MAXIMO RECOMENDADO SIENDO
ESTE UNIFORMEMENTE DISTRIBUIDO.

B LB KG i1/

Ne Measures_Inches Medidas_cm | Qty./Qtd.
50 |261/8x113/8x5/8|66.5x29.0x1.5 2
51 1261/8x113/8x5/8|66.5%x29.0x1.5 1




_ IDENTIFICATION OF ACCESSORIES
IDENTIFICACAO DOS ACESSORIOS/ IDENTIFICACION DE ACCESORIOS

ASSEMBLY
MONTAGEM / ARMADO

The separation of the accessories before you start the assembly will facilitate the
same. In case of doubt on the size ofthe screws and bolts, use the ruler to bottom of page.

A separacdo dos acessorios antes de iniciar a montagem facilitara a mesma. Em caso de duvida|
no tamanho dos parafusos e cavilhas, utilize a régua ao final da pagina.

La separacion de los accesorios antes de comenzar el armado facilitara el mismo. En caso de duda
sobre el tamaro de los tornillos y taquetes, utilice la regla al pie de pagina.

[24 % Handle ssmm | 3

Puxador Gola / Tirador

Flanged head screw
05 m Parafuso flangeado / Tornillo de cabeza flangeada 3,5x14 mm 1 2

‘HH\HH‘HH\HH‘\H\\\H\‘HHHH\‘HHH\H‘H\\\HH‘HH\HH‘HH\HH‘HHHH\‘HH\HH‘HHHH\‘HHHH\]J\H\HH\]J
0 10 20 30 40 50 60 70 80 90 100 110 20 30mm

] PRE-ASSEMBLE
PRE-MONTAGEM / PRE ARMADO

02

Drawer insertion
Insergao de gaveta
Insercidn del cajén

Horizontal Adjustment
Regulagem Horizontal
Ajuste Horizontal

Depth Adjustment
Regulagem Profundidade
Ajuste Profundidad

Vertical Adjustment
Regulagem Vertical
Ajuste Vertical




	250003
	240603
	240681

	250006
	240613
	240683

	250007
	240620
	240673

	250010
	240622
	240684


